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Note : Attempt all questions.
frder :mm1ﬁﬁm%nw(m)a§ﬁwﬂvw%qﬁm(a)
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Question No. 1 contains two parts. Part (A) has Multiple choice question
and Part (B) has Fill in the blanks. Each question carries 1 mark.

1%5=3-

Instruction :

gv-1  (@ue-37) Te famed g faten

(Part-A) Choose and write the correct answer :

() g B T F G

(1) 10 S, 1920

(%) 10 e, 1921

(|) 10 SFER, 1945

() 10 S, 1925

When was UNO established?
(a) 10th January, 1920 |
(b) 10th January, 1921

(c) 10th January, 1945

(d) 10th January, 1925

PTO.
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() I sremion iy ey () o e g N
(30) ¥ 1950 A (=) w1945 A
(F) ¥ 1960 & () w1955

North Atlantic Treaty Organisation (NATO) was established 1n :

(a) 1950 (b) 1945
(c) 1960 (d) 1955

(iii) foermt =t gfe @ wma © ¢
(=) frfm | (=) R
(W) T gan (7) fommasi

In the view of development, India is :
(a) Developed (b) Non-developed

. _(c) Backward (d) Progressive
(iv) aFaiea o= e Wi 8
(a1) 1 ardd, 2000 ¥
(/) 25 fow=w, 2001 ¥

(¥) 2 T, 2000 ®
() 30 faamr, 2000 ¥

Antyodaya Anna Yojana started from :
(a) st April, 2000

(l?) 25th December, 2001

(c) 2nd October, 2000

(d) 30th September, 2000
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(v) SEEEEN gfE % FRU, W@ Suerl dEnm 2 R o % fag A @
i &, G feufs = wEd ¥
(37) =R | w
(F) wHEn fqR
(|/) SHEE €§geH
() smEemn favsm

Duc to population increase, when the available resoures are not enough

for country, this condition is called :
(a) Low birthrate

(b) Population explosion

(c) Balaﬁncc of population

(d) Distribution of population

wvA-1  (@ue-v) faq = & g S . 1%5=5

(Part-B) Fill in the blanks :
() wgH g U W gemem -0 # fed ¥

Headquarter of UNO is situated in .

(i) ot T .'qumiﬁﬂfmwmu
Ashoka built Stupa. ‘

(iti) Tge @VE 4B T Yo |

Human is naturalljr creature.
(iv) __%gummﬁw-—ﬁﬁ, 2000 Tifoa & TR ©

National Population Policy, 2000 is cstablished for :

(v) W # g e AW qwe €

Capital of cotlon textile industrics in India 1s
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forder . %Wl(magﬁgwmawﬂm%lmmwzmmﬁa
e o ST T Sfursraw yreg-wiar 30 weg)
nstraction ucsti
. u::ﬁmn Nus.. 2 to 9 are very short answer type questions. Each
q on carries 2 marks. (Maximum limit of answer is 30 words)

W2 ST 9 awn fogm W At e R vEm R

Who ety
gave the scientific concepts of consumer’s surplus?

W3 WHER § guiRm e o @ & am e
Write the names of any four Asian countries who were the victims (affccted)
of imperialism. )

-4 viogg ¥ Iafs ¥ @ FwRw e
Write two causes of rise of Cold War.

Ugi-5 mﬁmwam—mﬁ%wwl
‘Write the names of any two folk songs of Chhattisgarh.

UgH-6 gl A HEH ! Gl & wE QS99 TRl

Write any two measures of safety for old men and weakers.

-7 g9-faveE @ sevismell &1 en O 4 o el

Write two advantages to consumers from division of labour.

gv-8  TEeE % Rl 9 TgE e § T H Sead S

Write the names of any four main literary figures of Gupta period.

yE-9  WRAN Wi w1 @ Y A S 2
Who is regarded as the protector of the Constitution of India?

fordar . [y TS 10 W 15 TR ATELINAY WY € | Ueieh U W 3 3k e
$) (I @ feeman Fe-HT 50 ) '

Question Nos. 10 to 15 are very short answer type questions. Each
question carries 3 marks. (Maximum limit of answer is 50 words)

qFA-10 ﬁwwﬁq%mmmﬁwﬁrwésﬁﬁwmn

Write the names of permanent member countries in Security Council of UNO.

Pafrear wd oW & &9 W UM RGP AMEH 417 TE SIS

What was the confribution of ancient‘ India in the field of Medicines and

Instruction :

e-11

Mathematics? Clarify it.
T-12  YURA §EE & YHE W19 sl W YEN Sl

Throw light on any three main functions of Indian Parliament.
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W—‘L’i m*ﬁmaﬂmﬁfmﬁﬁaﬁaﬁaﬁm—ﬁuﬁmﬁmmwﬁﬁ?ﬁ%?

I i ini
low does a Finance Minister gel help from the consumer’s surplus to determine
tax revenue?

WF1-14 W@r—ﬁmaﬁﬁﬁﬁaaﬁ#aﬁ%?ﬂqmm1

Write any three suggestions to control the population explosian.

We-15 gm-fausT 8 309 3 |me $ 2 ofena fafay)

What do you mean by division of labour? Give definition.
Frder P U¥T SRHR 16 T 21 Woh TSWAY U9 ¥ | U wyw sttt famea B
Uh U9 W 4 aiw emefed $1 (I S sfuean wez-dmn 75 w)

Instruction : Question Nos. 16 to 21 arc short answer type questions. Each question
has internal option. Each question carrics 4 marks. (Maximum limit

of answer is 75 words)

WT-16  Fmior saiv 3t worfeg & o fhsl 9 SR % avn fifwe

Explain any four factors which affect the manufacturing industries.

Hgar/ OR

“Wﬁﬁ?ﬂ?ﬁaﬂﬁﬁﬁﬁﬂﬂmiﬁﬁ?%l”ﬂ?ﬂqﬁg@ﬁﬁmi

“Modem agriculture is contribution of industrialization.” Discuss the statement
with arguments.

g § TSt F TR WY@ BRI Hl Ieei@ Y|

UyT-17
Describe four main causes of poverty in India.
3re/ar/ OR
arg # ST % AR SR ERvl S i
Describe any four causes of unemployment in India.
_m-'ls R Td @K H T T RV

Write differences between Bangar and Khadar.

st/ OR
Wﬁ%@W%WWWMWWW\

Explain the measures regarding conseryatioq of wildlife.
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nﬁwmﬁaaﬁtm
_ | ﬁﬁmwmﬁrﬁﬂﬂﬁﬁﬂmmmm

Explain any four plans which arc run by Chhattisgarh Govemment for the
empowerment of women,

W‘I‘—19

| Herar/ OR
ﬁﬁmﬁgmﬁ%%wmaﬂmaﬁﬁm
Mention any four measurcs 10 cradicale dowry system.
Wg-20 ANdlER & W 3 e fafaa
Write differcnces between Nazism and Fascisi.
3rgar/ OR
TR ¥ fEd 9r asol w1 e it

Explain any four characteristics of Fascism.

W¥-21 www%wmmmmmmm
- Throw light on any four main objects of UNO.

arear/ OR
ﬁ'ﬂaﬂwﬁﬂmﬁt{ﬂmﬁﬁmﬁwﬁ wpfrve e forel =R gl o e

sife@i
In the role of peace efforts by UNO, write about the role of India in any four

points.
frdor ; ﬁzswﬁdﬁﬂﬂm%mﬁmwﬂaﬂaﬁmﬁm%t
waE WyT W 5 3 e ¥ (IWC Y SifteRay JIe-HiT 100 W)

stion Nos. 22 to 25 are long answer type questions. Each question

Instruction : Que
(Maximum limit

has internal option. Each question carries 5 marks.
of answer is 100 words)

ﬁm#ﬂwﬁmﬁmmaﬂmm

Tyi-22
Write differences between 111cr1nal Power and Hydel Power.

' arerET/ OR
m@mm—mw%l"mﬁgﬁﬁﬁaﬁm

“Chhattisgarh is rich in minerals.” Explain the statement giving arguments
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qyT-24

17]

e (P W) T (3 we) @ sy wfEme) €' TER)

“Lok Sabha (Lower House) is more powerful than Rajya Sabha (Upper Housc).”
Explain.

eqr/ OR
#Hﬁ,ﬁﬁqﬁqawﬁﬁﬁmm?h%?mmi

How does the Parliament control over the Council of Ministers? Explain.

W wEte § e @ wefl St
(i) TEEd =

(i) T F @y
(ifi) Ternfers S
(iv) Sesten
(v) THF

Show the following in the map of India :
(1) Godavari River
(ii) Bay of Mannar
(iii) Series of Shiwalic
(iv) Bailadeela
(v) Raniganj
Hegar! OR
I & "Htes § Freifed = weida st .
(i) die1 INERA &
(i) Toem @
(iii) hICTRI
(iv) T T
(v) HEE o

Show 1the following in ihe map of India :
(i) Copper producing area

(ii) Chilka Lake

(iii) Kolkata

(iv) Narmada River

(v) Mountain of Maikal

57-A
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Fdw

Instruction :

UvI-26

gei-27

e R @ Rrea ® wm e gan?

What benefit did the world gain from the Industrial Revolution?

srer@T/ OR
oy fawa & F FRON T W SE

Explain thc rcasons of First World War,

. Uy WA 26 T 27 SdIwhT we ¥ | welkep Wyt § vaften R ¥
WEE W UT 6 3k afefed B (SO w1 aifueran yeg-HAT 150 Ye)

Question Nos. 26 and 27 are long answer type questions. Each question
has internal option. Each question carries 6 marks. (Maximum limit

of answer is' 150 words)

T YT W W H F T B T Wy S

Describe any six measures to prevent soil erosion.

arerar/ OR
o & W Y FA-RA Y TI SEEE § W ﬁ-‘gﬁﬁww1

What are the necessary measures for forest conservation? Explain them in six

points.

S H AR % 35d & w wRw 42 ©: fogell # w st

What were the causes of rise of Nazism in Germany? Explain them in six

points.

arerar/ OR
fgdta fava g & gRoml %1 9: fagali ¥ fafau)

Write the results of Second World War in six points.



